| 6"MIN_|

18" 8"

8"

RED ITEMS ARE NOT SUPPLIED BY HENDRIX

HENDRIX PART

ITEM NouBen DESCRIPTION ary ®

1 POLEXX POLE (TYPE, CLASS & LENGTH AS REQ) 1

2 SC-ZA16 35-46KV, 1-PHASE PRIMARY - TANGENT INCLINED INSTALLATION 1

57T iPiasvooT [NSUATOR, 25 VISEToP 1 BN : AERIAL CABLE SYSTEMS

23 | ssP2 INSULATOR PIN, SHORT SHANK, 3/4" W/1" NYLON THREAD T3 OLD WILTONRD. = - MILFORD, NH 03055« (603) 673-2040
24 | MBLT5BXX BOLT, MACHINE, 5/8" X REQ. LENGTH + |PESIGN P{'\RAMETERS-

25 | SWSH5BXX WASHER, SQUARE, 5/8 X 2-1/4" 4 |KV CLASS: 35"0‘6kV

26 | LWSH5/8-XX WASHER, SPRINGLOCK, 5/8" 4 |LINE ANGLE: 0-6

27 | SNUT5/8-XX SQUARE NUT, 5/8" 4

3 SC-H.01G GROUNDING GUIDE SPACER CABLE 1 | STEEP GRADE REVISION: 0
31 | GROUND WIREXX |GROUND WIRE, COPPER, #6 AWG (MIN) (LENGTH AS REQ.) 1 - : 5

32 | CONNECTORXX |CONNECTOR (SIZE & TYPE AS REQUIRED) 2 35-46KYV, _:_ APNHéL\ESI\IIETPRlMARY DRAWING NO.:

33 | STAPLEXX GROUND WIRE STAPLE (SIZE & TYPE AS REQUIRED) 1 AC 1 1 9 5 0 2
34 | GNDASSYXX GROUND ASSEMBLY (TYPE AS REQ., NOT SHOWN) 1




	Sheet1
	Drawing View1
	Drawing View2


